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Complete each statement with the correct mathematical term.
(@
This SO 1S @ covvveeeeeeeiie e S [1]
(b)
This polygon is a regular ... [1]
© 4
B .
Baigle ABC 18 @I . cccernssesisimmmsasss ssmasnssmaseassmsess angle [1]
4
, _ 23-7-J5
(a) Write the mathematical name under each of these triangles.
8cm
&cm 8cm 8cm 8cm 12cm NOT TO
SCALE
8cm 12cm

Mob: +974 55373670 / 33787500
E-mail:chymrc.muhammad@gmail.com

For
Examiner's
Use

(3]




03

similar acute line perpendicular radius

reflex obtuse parallel congruent isosceles

Choose the correct word from this box to complete each of these statements.

’ <
Angle A 1S v, [1]
Angle Bis .oooiiiiiiiiiiiiii [1]
© s
These lines are ..o.ocvovveeerreeienevineenne, [1]
(d)
] These lines are ......c.ccoeevivveciniinnnnns [1]
g Mo T ST ddmaicom
© UCLES 2014 0580/12/M/3/14 [Turn over




(a) Draw an acute angle.
04 Label the acute angle with the letter a.

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammua@gmal!.com

(1]
(b) Write down the mathematical name of angle b.
ANSWEF(D) ...ovonessyecssosessseisssssimusns ssssnisnsosns [1]
© UCLES 2013 03580/12/M/J/13 [Turn over
.05 (=315
equilateral triangle  square
regular pentagon parallelogram
regular hexagon circle
From the list write down
(a) the shape which has more than 6 lines of symmetry,
ANSWET(Q) oo [1]
(b) the shape which has both acute and obtuse interior angles.

ANSWEr(D) ooovvviiiiiiieeeeeeeec [1]




13-F-/%

L NOT TO
06 ” 52° SCALE

In the diagram, a straight line intersects two parallel lines.

Find the value of x.

ANSWEF X = eeeeereeeeieeeeeeenssnsesssessnesesinsans [1]
| 2774
For
O 7 (a) Examiner's
/}/ Use
L2 NOT TO
SCALE
xO
/
A straight line intersects two parallel lines as shown.
Find the value of x.
ANSWEI(Q) X = oiioieeeeieeeiceiee e 2]
(b)
NOT TO
SCALE
Calculate the value of y. .
............................................... (1]

Mob: +474 56373670/ 33787500
E.matlichymre. muhsmmad@gmati.com




For
Examiner's
NOT TO =
O 8 SCALE
55¢ p°
Find the value of p.
ANSWEF D= ...oisicsssmsssssssssssnmonansinssnsnsns susasas 2]
- /%~T—1 5
09 /.
- NOT TO
1249
SCALE
xO
Find the value of x.
ARSWEFr X = .o [1]
10
5
For
Examiner's
/B Use
130°
[‘O ~ Mob: 4974 5537367¢C/ 33787500
/ - 3 ~T~-v.'..ﬂ%'c:‘;;y:mc.mu!\ammad@gma!l.com
A
The straight line 4B crosses two parallel lines.

Find the value of «.

ANSwWer(d) 1= ....cccccoiiiiieieiieeee e [1]
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11 @
> SCALE

<)

Use the information in the diagram to find the value of a.

‘ Hn-r/y
1 2 - 73670 / 331375?°cm
E-m.::bch;:’r::f‘zhtmmm@qma! NOT TO
SCALE

(a) Find the value of x.

ANSWer(Q) X = ooviveieiierieee
(b) One of the angles is 163°.

What type of angle is this?

ANSWEF(D) oooveeieeeeeiiei e

For
Examiner's
Use




B
13
NOT TO
0
y 87° SCALE
A
C
D
(a) Calculate the size of angle A0B. Mob: 4074 SS3TI6T0 1 3ITETS00
E~mal|:c}'ymrc.muhammd@ﬂ"‘““'cm
Answer(a) Angle AOB = ....ccuusivsinmemsessonssassossassns [1]
(b) What type of angle is angle AOB?
ANSWEF(D) oo [1]

© UCLES 2013 0580/13/M/J/13 [Turn over
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(@)

NOT TO
SCALE

The diagram shows three straight lines crossing at a point.

(i) Find the value of x.

(i) Work out the value of y.

(b)

NOT TO
SCALE

A, B and C are points on the circumference of a circle.

Explain why 4B must be a diameter of the circle.

© UCLES 2016 0580/32/M/J/16

Mob: +974 55373670 133787500

E<ma|l:chymrc.muhammad@gma!l.com
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(i) Write down the mathematical name for this triangle.

(i) Find the value of w.

(iii) Find the value of x.

32~~-~I%
AnSWer(C)(1)..oveviiieinieiiereceieiice e, [1]
Answer(c)(11) W = ..o [1]
ABSWE(CHUIL) K= ..orvrrnsssseessiosssivissssssmmansssiainsssssonss [1]

Mob: +974 55313670/33787500. )
S-melhl chymrc.muhammad@gma{hcmn




]%~-T~ 2-
16 D > F
NOT TO
SCALE
A ) > C
In the diagram lines AC and DF are parallel and AE = EB.
Angle AEB = 52°.
(a) Write down the mathematical name for triangle AEB.
ANSWer(a) ......ooveeseeseerreesse e seessssessanassasnanens (1]
(b) Work out the value of a.
L (B (1]
(¢) Explain why a = b.
ANSWET(C) | ....oveersivresssssssssisssss s s R a0 (1]
17 ! 11=T— 1
A . o E
(N
NOT TO
SCALE
127°
D C - B

The diagram shows an isosceles triangle ABC.
DCB is a straight line and is parallel to 4E.
Angle DCA = 127°.

Find the value of

@ aq,

Answer(a) a =

(b) b.

Answer(b) b=

Examiner's

For

Use
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& NOT TO

SCALE

Triangle ABC is isosceles and AC is parallel to BD.

Find the value of ¢ and the value of 5.

19

Find the value of .

UW—Z1p

Mob: +974 55373670/ 33787500 ¢
E-mall:chymrc.muhammad@gmall.com 5
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NOT TO
SCALE
In the diagram, ABF is parallel to EDC.
Angle EDA = 37°, angle ADB is a right angle and BC = BD.
Find the value of
@ x,
ANSWer(Q) X = ..ccooccccneiniincececc e [
(b) »,
Answer(b) ¥ = oo [1]
(c) z
ARSWEr(C) Z = .iooioiiieeeiieeeiec e [2]

00
Mob: +974 55373670/ 337875
E-mn“:chymrc.muhnmmad@gmun.com




F-32-17
2 1 . (a) Complete this statement.

To be obtuse, an angle must be between ............... degrees and ............... degrees. [1]
(b)
parallelogram square rectangle |
kite trapezium rhombus
Choose one word from the box to complete each statement.
A i has no lines of symmetry but has rotational symmetry of order 2.
A has two lines of symmetry but no right angles.
A has one line of symmetry but no rotational symmetry. [3]
(©)

3 NOT TO
& SCALE

Mob: +974 55373870/ 331875?)0
b E-mull:chymrc.muhammad@gmm’..cem

The diagram shows four straight lines.

Write down the values of ¢, b and ¢.
Give a geometrical reason for ecach answer.

A = ooisvsinss DB CAUSE ©vvvvvseeeeeeeet ettt et ettt a bttt et et aeaaeaae e e e nerrrraaraes
b= ... D CAUSE e e e e
C= e DECAUSE .oeeieieeee it ettt ettt et e et e et et e et e b et et eE ettt ettt [6]

© UCLES 2017 0580/32/F/M/17
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(a)
22
x°
NOT TO
SCALE
470 Mob: +974 55373670/ 33787500
/ > E-mali:chymrc.muhammad@gmall.com
Find the value of x.
X S eeeierrresee et ees ettt [1]
(b)
@ NOT TO
SCALE
97° N
Find the value of y.
P T e [2]
23 Without using your calculator. work out 1 % + %(—3

You must show all your working and give your answer s am ixed number in its simplest form.

© UCLES 2016 0580/12/F/M/16 [Turn over
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(a) Draw the line of symmetry on the shape below.

Mob: +874 55373670/ 33787500 b
E-malI;chymrc.muhammad@gma&l.comj

[1]
(b) Write down the order of rotational symmetry of the shape below.
’Answer( D) e [1]
(© ()
v NOT TO
6 ' SCALE
Work out the value of x.
Answer(C)(1) X = oo [1]
(ii)
NOT TO
SCALE
54°
Work out the value of y.
ARSWEF(C)(11) ¥ = oo [2]

© UCLES 2014 0580/32/M/1/14



- (a)
2% NOT TO
SCALE
108°
43° 7
A B

AB is a straight line.

Find the value of p.

Answer(a) p= .ccccocevuenne.

(b)
@ NOT TO
SCALE
v
Find the value of g.
Answer(h) ¢ = oo
©

NOT TO
SCALE

D

DCB is a straight line and AB = AC.

Find the values of » and s.

Answer(c) r = ....ccoovvvninnns

© UCLES 2013 0580/31/M7J/13

Mob: +974 55373670/ 33787500
E-mall:chymre.muhammad@gmall.co)
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(a) Find the value of x.

/ NOT TO

o SCALE

Answer(a) x =

(b) EF is a diameter of the circle.

SCALE

Find the value of y.

F

Answer(b) y =

(¢) Find the value of z in this isosceles triangle.

A NOT TO

SCALE

L (o R ——— [1]

Mob: +974 55373670/ 33787500
E-mail:chymrc.muhammad@gmall.com
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u° /
- NOT TO
1329 SCALE
/N
N
Find the value of u.
ARSWEr(Q) U= ..ottt [1]

(b)

NOT TO
SCALE
Find the value of v.
ARSwer(b) v = ....cccccccovmniiiiiiee e [2]
-
. 133787500
o eSO R,
-
© UCLES 2015 0580/32/0/N/15
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NOT TO
SCALE
Work out the value of o b ;:‘-'r:‘f“s:z::‘z:;:é?:‘mom
@ x
X T o renssserneeresannevesnnensaiissenanrsbatantd [1]
(i)
Y T et rrere et [1]
(b)
NOT TO
SCALE
Work out the value of w,
Give reasons for your answer.
W= e DECAUSE ©oiveiiriieiiiisie ettt ettt ettt e ettt e et et s ettt et s e bttt et en et eaees
.............................................................................................................................................................. [3]
(©
NOT TO
SCALE
8
—
Use trigonometry to calculate the value of p.
P =" s o s s [2]
© UCLES 2016 0580/33/0/N/16




2 9 (a) Measure the reflex angle at 4. ~F 337
A
.................................................. [1]
(b)
S A
7 NOT TO
SCALE
- 68°
7
Find the value of b.
Give a reason for your answer.
b= i, DECALISE vttt eeee oot e e e et e eae e e et e e e es e bt e ek et e a e et et he e [2]
(©
N
7
NOT TO
SCALE
v
Find the values of ¢, d and e.
BT\ memawanss evwssmarrpt gyssiins HBILS SESER
AT e
€T iriirete et se s as (3]

© UCLES 2017 0580/33/M/J/17




Z 33- 174}
(d) A regular polygon has 24 sides.

Work out the size of one of the interior angles of the polygon.

() Town Yis 6.7km from town X.
The bearing of town Y from town X'is 113°.

On the scale drawing, draw a line from X and mark the position of Y.

The scale is 1 centimetre represents 1 kilometre.
North
Mob: +974 55373670/ 33787500
E-mall:chymrc.muhammad@gmall.com
Scale: em to [ km
X

(f) Give the correct mathematical name for each of the shapes described below.

(i) Iam a quadrilateral.
I have two pairs of parallel sides but no right angles.
I have two lines of symmetry.

(ii)) Iam a quadrilateral.
I have one pair of opposite angles that are equal.
I have one line of symmetry.

© UCLES 2017 0580/33/M//17 [Turn over




(iv) The quadrilateral forms the cross section of a prism with length 6.8 cm.

Calculate the volume of the prism.
Give your answer correct to 2 significant figures.

For
Examiner's
Use

ARSWer(@)(iV) .ooevveveeeeeeeeeieeeeeenans cm® [2]
30 NOT TO
SCALE
A
|
i
} E Mob: +974 55373670 / 33787500
E-mall:chymre.muhsmmadi@gmail.com
T The diagram shows a pentagon, 4BCDE.
AB is parallel to DC.
A straight line, parallel to £D, passes through the vertex C.
(i) Find the values of w, x and y.
- Answer(b) (1)) W= oo,
T i A S R TS
V= ceecrerrsneiernssnensssesnsonsssssesassasses [3]
(i) The sum of the angles of a pentagon is 540°.
Find the value of z.
Answer(b)(11) 2 = i 2]
© UCLES 2013 0580/33/M/J/13 [Turn over
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31

% NOT TO
cm SCALE
S5¢cm
-
xcm
Calculate the value of x.
Mob: +974 55373670/ 33787500
E-mail:chymrc.muhammad@gmail.com
ANSWEP X = .ooetrrereeeenesreersevesessssesseseon [3]
12 -N—-/5

. 3

NOTTO

SCALE

Use trigonometry to calculate angle 4CB.

Answer Angle ACB = ....oooooiiiiiiiiiieeee e, [2]




LN 5

33
NOT TO
T SCALE
18cm
-
26cm
Calculate the value of x.
ANSWEr X = oo

3 4 /3—r(-/ J

NOT TO

SCALE

2cm

'—! s

Calculate the value of x.

ARSWEr X = e

Mob: +874 55373670/ 33787500
E-mall:chymrc.muhammad@gmall.com
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NOT TO
SCALE

I1.2¢em

Bl
C
Calculate AB.
Mob: +974 55373870 /33787500
E-malil:chymrc.mubammad@gmall.com
Answer AB = ......cccooooiiiiiiieeeeee cm [2]
S 2~ 4
36 B
NOT TO
SCALE
4.6cm
4 7.2cm C
Calculate 4B.
ANSWer ....c.cooveviiiieiiieeeeea cm [2]




12-7- (4

8cm NOTTO
SCALE
n 28°
B A
Calculate the length of AB.
Answer AB = ..o, cm [2]

38 :
1)-772—

iner's
NOTTO Use
29cm SCALE

] 53.2°

Calculate the value of x.

Answer x = [2]

Mob: +974 55373670 / 33787500
E-mail:chymrc.muhammad@gmait.cor !
N
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40

13~n~ B

628m NOT TO
h SCALE
15°
Calculate the length 4.
Give your answer correct to 2 significant figures.
Answer = _.......ccccooiiiiiiiiineeneen, m [3]
V-nN—) 3

The diagram shows a ladder of length 8 m leaning against a vertical wall.

h 8m

Use trigonometry to calculate 4.
Give your answer correct to 2 significant figures.

NOTTO
SCALE

Answer h=

Mob: +374 55373670/ 33787500
E-mail:chymrc.muhsmmad@gmail.com

For
Examiner's
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For
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Calculate the value of x.

42

H

/T4

NOT TO
SCALE
S5cm
ARSWEE X T oo eeeiecisirresssraaee s

N4

NOT TO
SCALE

Using trigonometry, calculate the value of x.

Mob: 4574 55373676
Emmm»m"m«m




13- 1,

L3 B

23m NOT TO
SCALE
16°
A C
A ramp, AB, with length 23 m, slopes up at an angle of 16° to'the horizontal, AC.
Use trigonometry to calculate AC.
AC = oomasmenssesmssmssssasmsans soasrsssisss m [2

4 &

NOT TO
xem SCALE
-
. S
Use trigonometry to calculate the value of x.
T T o RSB meg ry 53 [2]

© UCLES 2016 0580/12/0/N/16




NOT TO
3.5m SCALE
F—l Mlob: +974 553;"3670 I:é’l:?f»!:@
E-mall:chymrc.muhamma mail.com
B 0.9m 4
Calculate angle BAC.
Angle BAC = ...t [2]
© UCLES 2016 0580/12/F/M/16 [Turn over
The three angles in a triangle are 5x°, 6x° and 7x°.
NOTTO
SCALE
(a) Find the value of x.
X T e e e [2]

(b) Work out the size of the largest angle in the triangle.




LT

A

B

Triangle ABC has a height of 8 cm and an area of 42 cm?,

Calculate the length of BC.

/2772

A
NOT TO
SCALE
8cm
v
C
Answer BC = oo

Mob: +974 55373670 / 33787500
E-mail:chymrc.muhammad@gmall.com
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Examiner's
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48

(2) Fla-17
NOT TO
SCALE
B
Calculate the length BC.
BC = e, m [2]
(b)
D
NOT TO
223¢cm SCALE
52cm
E F
Calculate angle DFE.
Angle DFE = oo, [2]

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmail.com

© UCLES 2017 0380/13/M/J/17




49 (a)

&\

Triangle ABC is an isosceles triangle with 4B = CB.
Angle ABC = 44°.

B

Find angle ACB.

(b) Aregular polygon has an exterior angle of 40°.

Work out the number of sides of this polygon.

© UCLES 2016 0580/13/0/N/16

NO

TTO

SCALE

Angle ACB =

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmail.com
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300km

The diagram shows the path of a plane from airport 4 to airport B.

(i) Show that the distance between 4 and B is 375 km.

(i) The plane flies at an average speed of 450 km/h.
[t leaves 4 at 14 45 and flies directly to B.

Work out the time it arrives at B.

© UCLES 2016 0580/33/0/N/16

NOTTO
SCALE

Mob: +874 55373670/ 33787500
E-mall:chymrc.muhammad@gmall.com

[Turn over




27¢m

45¢m

H

FGH is a right-angled triangle.
Calculate

() GH,

G

NOT TO
SCALE

Mob: +974 55373670/ 32787500
E—ma“:chymrc.muhammad@ma".com

Answer(CI(1) GH = ccouvnsissismssisssssssmnsssvsysonsass cm [3]
(ii) the perimeter of the triangle,
Answer(C)(11) cooveeeveneniecicciienieis cm [1]
(iii) the area of the triangle.
Answer(C)(I11) wocvvieeerieenncceenes cm? [2]
© UCLES 2015 0580/31/MAI/15 [Turn over
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34cm 30cem

B Mob: +974 55373670/ 33787500
E-mnll:chymrc.muhammad@gmall.com

A 16cm

(a) Write down all your working to show that angle ABC is a right angle.

Answer(a)

(2]

(b) Use trigonometry to calculate angle CAB.

Answer(b) Angle CAB =

© UCLES 2012 0580/12/M/J/12
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Use




© UCLES 2016

()

4
17.8cm NOT TO
SCALE
35°¢
P = R
PQR is a right-angled triangle.
Use trigonometry to calculate PR.
PR =
(@)
NOTTO
SCALE
L 21.5¢em M
KLM is a right-angled triangle.
Calculate KL.
KL=

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmail.com

0580/32/M/J/16

[Turn over




53 A D

93.5m NOT TO
. SCALE

(1,
82.5m ¢

B

The diagram shows a rectangular field, 4BCD, with a straight path, BD.

(a) Calculate the distance from C to D.

............................................... m [3]
. (b) Yan walks along the edge of the field from B to C and then from C to D.
Lee walks along the straight path BD.
Work out how much further Yan walks than Lee.
............................................... m [1]

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmali.com

© UCLES 2016 0580/13/M/J/16




L W

NOT TO
SCALE

. . Mob: +974 55373670/ 33787500
- The diagram shows an isosceles triangle ABE and a quadrilateral BCDE. E-mall:chymrc.muhammad@gmall.com

ABC is a straight line.

Calculate the value of x.

ANSWEF X =i [3]
~
5 H (a) The diagram shows a quadrilateral with one side extended. £
NOT TO
SCALE
Find the value of x.
ARSWEr(@) X = ovvciiiinieeeciccne e 2]

(b) Find the sum of the interior angles of a 25-sided polygon.

ANSWEITR) overeneesssevmmosvnmuvonsssasississsmsssessone [2]




56
NOT TO
SCALE
c E
The diagram shows a quadrilateral ABCD.
CDE is a straight line.
Calculate the value of x.
Answer X = .. (2]
©UCLES 2012 L 0580/13/M/J/12 [Turn over

Mob: +974 55373670 / 33787500
E-mail:chymrc.muhammad@gmall.com




571

NOT TO
SCALE
In the diagram, all four lines are straight.
Angle A = 105°, angle B = 90° and angle C = 98°.
Find the value of k.
ANSWEr kK = .oooiiiiiiiiiciee [2]
© UCLES 2014 0580/11/0/N/14 [Turn over

Mob: +874 55373870 / 33787500
E-mall:chymre.muhammad@gmall.com




(a) Show that the sum of the interior angles of a regular pentagon is 540°. For
Examiner's
Answer(a) Use
Mob: +974 55373670 / 33787500
E-mall::hymrc.muhammad@gma“.com
(2]
(b)
NOT TO
SCALE
A
The diagram shows a pentagon ABCDE.
BC is parallel to AE and angle CDE is a right angle.
Find the values of x and y.
ARSWEr(D) X = | . eeeeessseneemseneeen
V= e (3]

© UCLES 2012 0580/12/M/J/12




5 9 In this question all lengths are in centimetres.
ABC is an isosceles triangle. 4 ,
AC=2x-3and BC=x +2. NOTTO
SCALE
2x -3
Mob: +974 55373870 / 33787500
E-mall:chymrc.muhammad@gmall.com

B X 2 C

(a) Write down an expression for 4B.
AnSwer(@) AB = c.ocovvveeeiiiiieineieeeee, [1]

(b) Write down and simplify an expression for the perimeter of the triangle.

ARSWEF(D) oviivveeieee cm [2]
(¢) Arectangle has length 3(x —4) and width (14 —Xx).

(i) Write down and simplify an expression for the perimeter of this rectangle.

ANSWer(C)(1) woeveeeiieieiereiiseeieenee cm [2]
(ii) The triangle and the rectangle have the same perimeter.

Write down an equation and use it to find x.

ARSwer(C)(11) X = oo 2]
(d) Find the length and width of the rectangle.
Answer(d) Length = ... cm
Width = .o cm [2]
(e) Work out the area of the rectangle.
ANSWEF(€) oo cm? [1]

© UCLES 2014 0580/33/00/N/14




60 ()

B
NOT TO
SCALE
G
85¢° .
A E F €
H
D
In the diagram, ABC and DEC are triangles.
AB = BE and BED is parallel to GFH.
Angle AEB = 85° and angle CBE = 30°.
(i) Find angle EAB.
Answer(a)(i) Angle EAB = ................
(ii) Find angle ABE.
Answer(a)(ii) Angle ABE = ................
(iii) Find reflex angle ABC.
Answer(a)(iii) Angle ABC = ..............
/
(iv) Find angle BEC.
Answer(a)(iv) Angle BEC = ...............
(v) Find angle EFH.
Answer(a)(v) Angle EFH= ...............
(vi) Find angle BCE.
Answer(a)(vi) Angle BCE = ................

© UCLES 2014 0580/33/0/N/14

Mob: +974 55373670 / 33787500
E-mall:chymrc. muhammad@gmail.com




(vii) Complete the following statement.

Trangle .o is similar to triangle .......ccccoceeeennn. [1]

(b) For aregular 12-sided polygon, find the size of

(i) an exterior angle,

ARSWer(B)(1) wovveevveeeeeieecieeieeeeeeee [2]

(ii) an interior angle.

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmail.com

© UCLES 2014 0580/33/0/N/14 [Turn over
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6 1 (a) Complete the table.

Name of polygon Number of sides
Quadrilateral 4 Mob: +974 55373670 / 33787500
E-r y h d@gmail.com
Heptagon
5
(2]
(b) ‘
B C D
NOT TO
SCALE
- 550 o
A - E
In the diagram, 4B is parallel to £C and BCD is parallel to AE.

Angle BAE = 55° and angle CED = 23°.

(i) Complete the following statement.
The mathematical name for quadrilateral ABDE 1S ........cccoocvvniivieininccnincnnn, . [1]

(ii) Work out the size of angle ABC.
Answer(b)(i1) Angle ABC = ....ocooiiiiiiiiieceeee [1]
(iii) Work out the size of angle CDE.

Answer(b)(iii) Angle CDE = ......cooiiiiieiieeeeeeee, [2]

© UCLES 2013 0580/32/0O/N/13
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(a)
8.4cm c
- NOT TO
SCALE
12.5cm D

In the quadrilateral ABCD, BC is parallel to AD.
AB=5.5cm, BC =8.4cm, AD = 12.5cm and angle BAD = 70°.
The height of the quadrilateral is /.

(i) Write down the mathematical name of the quadrilateral ABCD.

ANSWEFLAI(1) ©uonsnvreivnssasninesanessosiissssassnss sssann [1]

(i) Use trigonometry to show that #=5.2cm, correct to | decimal place.

Answer(a)(ii)
(2]
(iii) Calculate the area of the quadrilateral ABCD.
Answer((1ii) oo cm?® [2]
© UCLES 2013 0580/33/M/J/13 Mob: +974 55373670 / 33787500
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I T~/2-
53 - (a) A quadrilateral has four sides of equal length and two pairs of equal angles.

Write down the mathematical name for this quadrilateral.

ANSWEr(Q) | .....oeeeeeeeeeecreereernenesneneeseeseanassneen [1]
(b)
’ NOT TO
SCALE
74° 63°
Three of the angles in a quadrilateral are 63°, 74° and 92°.
Work out the size of the fourth angle.
Answer(B) —.....ereinisireniressnnssesees (1]

Mob: +074 5537367¢ / 33787500
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6 &

E

The diagram shows quadrilateral ACDE.
AC is parallel to £D and B is a point on AC.

Angle EAB = 120°, angle ABE = 32° and angle C'BD = 64°.

(a) Work out angle EBD.

NOT TO
SCALE

Answer(a) Angle EBD = .......ccccooeviinviniinniieieeineenn, [1]
(b) Work out angle AEB.
Answer(h) Angle AEB = ..o [1]
(¢) Complete this statement.
Angle BED = angle ABE because they are ........c.ccociiiriiiiiiiiiiicineene e angles. [1]
4 Work out the size of one interior angle of a regular 15-sided polygon.
ANSWEE ooiviiiiiiiiiiieeciieev e [3]

Mob: +974 55373670 / 33787500
E-mall:chymrc.muhammad@gmail.com
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